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Symbol Nr nici KrzyŜyki Motki Motki Motki

2 nitki 3 nitki 6 nitek

 DMC 225 443 1 1 1

 DMC 304 348 1 1 1

 DMC 307 335 1 1 1

 DMC 311 429 1 1 1

 DMC 321 216 1 1 1

 DMC 351 518 1 1 1

 DMC 352 1398 1 1 2

 DMC 353 2107 1 2 3

 DMC 666 385 1 1 1

 DMC 700 170 1 1 1

 DMC 702 121 1 1 1

 DMC 704 54 1 1 1

 DMC 720 871 1 1 1

 DMC 721 2435 1 2 3

 DMC 722 2168 1 2 3

 DMC 725 621 1 1 1

 DMC 726 1477 1 1 2

 DMC 727 2347 1 2 3

 DMC 822 1830 1 1 2

 DMC 939 1109 1 1 2

 DMC 3078 728 1 1 1

 DMC 3750 799 1 1 1

 DMC 3801 291 1 1 1
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